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JEH! +EHEELDY
V= 8.96 8.96 | m® 9.0
JEH! +EHEELY
(HE2) V= 3.92 3. 92 3.9
WEL +EFHEELY
V= 1.36 1.36 | m® 1.4
PREIRIERS 5T #EE () 8. 96
PEAI (BE2) 3. 92
12.88 | m? 12.90
b5 IS ( mE + R — (MWEL) /0.9
v=( 12.88 + 51.54 ) — (1.36 /0.9 ) 62.91 | m3 62.9
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(m2) (m2) (m3) (m2) (m2) (m3) (m) (m) (m3)

No. 0 No. 0 1.63 0. 54 0.10
2. 40 1.56 3. 74 0. 52 1.25 0. 09 0. 22

No. 0+2.40 | No.0 2. 40 1.49 0. 50 0. 08
3. 00 0. 82 2. 46 0. 47 1.41 0. 20 0. 60

No. 0+5.40 | No.0 5. 40 0.15 0. 44 0. 32
3. 00 0. 92 2.76 0. 42 1.26 0.18 0. 54

No. 0+8.40 | No. 0 8. 40 1.68 0. 39 0.03
& 8. 40 8. 96 3.92 1.36
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A2= ( 3.329 + 3.242 ) X 1/2 X
3. 000 = 9. 857
A3= ( 3.242 + 3.162 ) X 1/2 X
2.700 = 8. 645
DI 25.559 | m?® 25.6
fiiA=> 27—k | V= 0.194 25. 559 = 4.958 | m? 5.0
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B HIAA IR LY
FIARS V= 5.210 = 5.210 | m® 5.2
(RC-40)
KIKE A7 | N= 2.250 7.800 X 1.044 =+
(VP ¢ 50) 3. 000 = 6.107 | A 7.0
0. 4m/ & Pt
L= 6.107 0. 400 = 2.443 | m 2.4
W UBSIER] | A= 0.300 0.300 X 7.000 = 0.630 | m? 0.6
(300 % 300 X 30)
H ikt A= 3.392 0. 350 = 1. 187
(tiE%6ralk  t=10mm) 3. 162 0. 350 = 1. 107
> = 2.294 | m?® 2.3
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(18-8-40BB) | N=  1.000 = 1.000 | 1. 00
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X 1/2 = 1. 748
A= 3.496 X 1.674 X 1/2 = 2.926
= 4,674 | m? 4.7
ERUESI NG EEAX L0
(A ) A= (( 0.501 + 0.500 ) X  3.267
X 1/2 = 1.635
A= 3.235 X 1.505 X 1/2 = 2. 434
= 4,069 | m? 4.1
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(m2) (m2) (m3) (m) (m) (m2) (m) (m) (m2)
No. 0 No. 0 0.62
2.40 0.62 1.49
No. 0+2. 40 No. 0 2.40 0.62
3. 00 0.62 1. 86
No. 0+5. 40 No. 0 5.40 0.62
3. 00 0.62 1. 86
No. 0+8. 40 No. 0 8. 40 0.62
&t 8. 40 5.21




MEYEREILHESE

(—xH )
TS B L T
a7 Y—Fh EBAX LD
FEEEEE L | V= 4.800 X 3.329 X 0.350 5.59 | m® 5.6
(THE777)
T LR T
T FEEHIEE L LV
(mH=arsy—1) | V= 5.59 5.59 | m® 5.6
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V= 2.03 X 16.00 = 32.48 m® 32.
A+
(l1+) V= 32.48 X 1.20 = 38.98 m?® 39.
et
(C-40) V= 0.30 X 16.00 = 4.80 m® 4,
BEEHET v= 32,48+ 4.80 = 37.28 m® 37.
FEAHAOET | V= 1.08 X 1.10 X 1. 00
X (11.00 + 1.0 ) = 14. 26
= 32.48
V=" 4.80 = 32. 48
= 4. 80
= 51.54 m?® 51.
) 1 N= 0.95 = (1.08 X 1.10 ) = 0.79 & 1.
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IR T N= .00 = 1.
MR IR EE K I EHE X XL D
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BESSEME W= ( 11,00 + 1.0 ) X  2.50 = 30.00 kg 30.
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a7 Y—PpF A= 0.087 X 10.000 0.870 | m2 0.87
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a7 U—Fk | v= ( 0.540 + 0.200 ) X 0.100 X 1/2 x 10.000 =  0.370 m3 0. 37
(18-8-25BB)
P A= 0.100 X 10.000 = 1.000 m2 1. 00
H #iks A= ( 0.540 + 0.200 ) X 0.100 X 1/2 = 0.037 m2 0. 04
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a7 Y—h A= ( 0.540 + 0.570 ) X 0.100 X 1/2 0. 056
(18-8-40BB) A= ( 0.570 + 0.785 ) X 2.170 X 1/2 1. 470
A= ( 0.785 + 0.370 ) X 0.196 X 1/2 0.113
A= ( 0.370 + 0.370 ) X 0.882 X 1/2 0.326
v=( 0.056 + 1.470 + 0.113 + 0.326 0.590 | m3
— I A= ( 0.540 + 0.570 0.100 X 1/2 0. 056
A= ( 0.570 + 0.785 2.170 X 1/2 1. 470
A= (. 0.785 + 0.370 0.196 X 1/2 0.113
A= (. 0.370 + 0.370 0.882 X 1/2 0. 326
A= ( 0.056 + 1.470 + 0.113 + 0.326 ) 3.930 | m2
NG it 0.300 X 3.496 L049 | m2
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4 78 7t B HBAL B &
a7 —k A= ( 0.540 + 0.570 ) X 0.100 X 1/2 = 0. 056
(18-8-40BB) A= ( 0.570 + 0.766 ) X 1.960 X 1/2 = 1. 309
A= ( 0.766 + 0.370 ) X 0.187 X 1/2 = 0. 106
A= ( 0.370 + 0.370 ) X 0.882 X 1/2 = 0. 326
v=( 0.056 + 1.309 + 0.106 + 0.326 ) X 0.300 = 0.539 | m3 0.54
— A A= ( 0.540 + 0.570 ) X 0.100 X 1/2 = 0. 056
A= ( 0.570 + 0.766 ) X 1.960 x 1/2 = 1. 309
A= ( 0.766 + 0.370 ) X 0.187 X 1/2 = 0.106
A= ( 0.370 + 0.370 ) X 0.882 X 1/2 = 0. 326
SA= ( 0.056 + 1.309 + 0.106 + 0.326 ) X 2.000 = 3.594 | m2 3.59

EBERL P A= 0.300 X 3.267 = 0.980 | m2 0.98
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